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Rb-TT time diff. hdiff_1

Entries 2316
I B I Y O B B M ean -12.23
B RMS 4.161

-500 400 300 200 100 0 100 200 300 400 500
diff time [nsec]




Rb-M ot time diff. hdiff_2

Entries 2316
I O Y O I B B [T T T T [T T T T[T T T T[T M ean -15.29
3 RMS 9.815
10 - lJ'l -
10° = E
10

EUUTTTTIT Y J T,

-500 400 300 200 100 O 100 200 300 400 500
diff time [nsec]




TT spill interval

3.20000008
3.200000075
3.20000007
3.200000065
3.20000006
3.200000055
3.20000005

ITIIII|IIIIIIII|IIIIIIII|IIII|II

S

500

71000 1500

2000 2500



